
MODEL T10687
TRACK SAW

OWNER'S MANUAL
(For models manufactured since 10/12)

WARNING: NO PORTION OF THIS MANUAL MAY BE REPRODUCED IN ANY SHAPE
 OR FORM WITHOUT THE WRITTEN APPROVAL OF GRIZZLY INDUSTRIAL, INC.

Download from Www.Somanuals.com. All Manuals Search And Download.



This manual provides critical safety instructions on the proper setup, 
operation, maintenance, and service of this machine/tool. Save this 
document, refer to it often, and use it to instruct other operators. 

Failure to read, understand and follow the instructions in this manual 
may result in fire or serious personal injury—including amputation, 
electrocution, or death.

The owner of this machine/tool is solely responsible for its safe use. 
This responsibility includes but is not limited to proper installation in 
a safe environment, personnel training and usage authorization, 
proper inspection and maintenance, manual availability and compre-
hension, application of safety devices, cutting/sanding/grinding tool 
integrity, and the usage of personal protective equipment.

The manufacturer will not be held liable for injury or property damage 
from negligence, improper training, machine modifications or misuse.

Download from Www.Somanuals.com. All Manuals Search And Download.



INTRODUCTION ............................................................................................................................... 2

SECTION 1: SAFETY ....................................................................................................................... 8

SECTION 2: POWER SUPPLY ...................................................................................................... 12

SECTION 3: SETUP ....................................................................................................................... 14

SECTION 4: OPERATIONS ........................................................................................................... 16

SECTION 5: MAINTENANCE......................................................................................................... 25

SECTION 6: SERVICE ................................................................................................................... 26

SECTION 7: PARTS ....................................................................................................................... 28

WARRANTY & RETURNS ............................................................................................................. 33

Table of Contents

Download from Www.Somanuals.com. All Manuals Search And Download.



INTRODUCTION

Manual Accuracy Contact Info

your tool may not exactly match the 
manual

www.grizzly.com

No list of safety guidelines can be complete. 
Every shop environment is different. Always 
consider safety first, as it applies to your 
individual working conditions. Use this and 
other machinery with caution and respect. 
Failure to do so could result in serious per-
sonal injury, damage to equipment or poor 
work results.

Download from Www.Somanuals.com. All Manuals Search And Download.



VERY 

Arbor:

Bevel Edge Cut:

Blade Guard:

Kerf:

Kickback:

Parallel:

Perpendicular:

Riving knife:

Straightedge:

Through Cut:

Rip Cut:

Plunge Cut:

Glossary Of Terms

Download from Www.Somanuals.com. All Manuals Search And Download.



A. Primary Handle:

B. Secondary Handle:

ON/OFF

C. Depth Stop & Lock Knob:

D. Bevel Gauge & Lock Knob (Front & Rear):

E. Rail Adjustment Knobs: 

F. Zero-Stop Set Screw:

G. ON/OFF Trigger:

H. Plunge Release: 

Features and Controls

Download from Www.Somanuals.com. All Manuals Search And Download.



I. Dust Collection Port: 

J. Arbor Bolt:

K. Spring-Loaded Riving Knife:

L. Saw Blade:

M. Base Plate:

N. Blade Lock:

O. Cutting Indicator Arrows:

Download from Www.Somanuals.com. All Manuals Search And Download.



MODEL T10687
TRACK SAW

Product Dimensions:

Shipping Dimensions:

Electrical:

Motor:

Main Specifications:

Blade Specifications

Cutting Capacities

Construction

Download from Www.Somanuals.com. All Manuals Search And Download.



Other Specifications:

Features:

Optional Accessories:

Download from Www.Somanuals.com. All Manuals Search And Download.



SECTION 1: SAFETY

DISCONNECT POWER FIRST.

EYE PROTECTION.

ELECTRICAL SAFETY.

OWNER’S MANUAL.

TRAINED OPERATORS ONLY.

DANGEROUS ENVIRONMENTS. 

MENTAL ALERTNESS REQUIRED. 

For Your Own Safety, Read Instruction 
Manual Before Operating this Power Tool

The purpose of safety symbols is to attract your attention to possible hazardous conditions. 
This manual uses a series of symbols and signal words intended to convey the level of impor-
tance of the safety messages. The progression of symbols is described below. Remember that 
safety messages by themselves do not eliminate danger and are not a substitute for proper 
accident prevention measures. Always use common sense and good judgment.

Indicates a potentially hazardous situation which, if not avoided, 
MAY result in minor or moderate injury. It may also be used to alert 
against unsafe practices.

Indicates a potentially hazardous situation which, if not avoided, 
COULD result in death or serious injury.

Indicates an imminently hazardous situation which, if not avoided, 
WILL result in death or serious injury.

This symbol is used to alert the user to useful information about 
proper operation of the machine.NOTICE

Safety Instructions for Power Tools

Download from Www.Somanuals.com. All Manuals Search And Download.



WEARING PROPER APPAREL.

HAZARDOUS DUST. 

HEARING PROTECTION.

REMOVE ADJUSTING TOOLS.

INTENDED USAGE.

AWKWARD POSITIONS.

SAFE HANDLING.

SECURING WORKPIECE.

GUARDS & COVERS.

CHILDREN & BYSTANDERS. 

FORCING TOOLS. 

USE RECOMMENDED ACCESSORIES.

MAINTAIN WITH CARE.

CHECK DAMAGED PARTS.

MAINTAIN POWER CORDS. 

UNATTENDED OPERATION.

EXPERIENCING DIFFICULTIES. 

Download from Www.Somanuals.com. All Manuals Search And Download.



Additional Safety for Circular Saws

BLADE MAINTENANCE.

RECOMMENDED ACCESSORIES.

RIVING KNIFE.

GUARDS.

PHYSICAL SAFETY.

CUTTING DEPTH.

STRAIGHT CUTS.

STOPPING AND RESTARTING CUTS. 

CUTTING CORRECT MATERIAL.

PLUNGE CUTS.

WORKPIECE SUPPORT.

WORKPIECE CLEARANCE.

MAIN INJURY HAZARDS: Death, amputation, or lacerations from contacting the spinning saw 
blade; blindness or eye injury from flying workpiece chips or tramp metals. To minimize your 
risk of these hazards, always heed the following warning information:

Download from Www.Somanuals.com. All Manuals Search And Download.



Understanding 
Kickback

Figures 1–2

Preventing
Kickback

Take these precautions to help prevent the 
most common causes of kickback:

 

Figure 2.

Figure 1.

 

Download from Www.Somanuals.com. All Manuals Search And Download.



SECTION 2: POWER SUPPLY

Availability

Electrocution, fire, or 
equipment damage may 
occur if machine is not 
correctly grounded and 
connected to the power 
supply.

Full-Load Current Rating

Full-Load Current Rating at 120V ....... 9 Amps
For your own safety and protection of 
property, consult an electrician if you are 
unsure about wiring practices or electrical 
codes in your area.

Note: The circuit requirements listed in this man-
ual apply to a dedicated circuit—where only one 
machine will be running at a time. If this machine 
will be connected to a shared circuit where mul-
tiple machines will be running at the same time, 
consult a qualified electrician to ensure that the 
circuit is properly sized for safe operation.

120V Circuit Requirements

Voltage ........................................................ 120V
Cycle ..........................................................60 Hz
Phase ........................................... Single-Phase
Power Supply Circuit ......................... 15 Amps

Serious injury could occur if you connect 
the machine to power before completing the 
setup process. DO NOT connect to power 
until instructed later in this manual.

Download from Www.Somanuals.com. All Manuals Search And Download.



Extension CordsPolarized Plug

Figure 3. 

5-15 Receptacle

1-15 Plug
25 Feet ....................................................16AWG
50 Feet ....................................................14AWG
100 Feet ..................................................12AWG
Over 100 Feet .................... Not Recommended

Download from Www.Somanuals.com. All Manuals Search And Download.



SECTION 3: SETUP

Unpacking

SUFFOCATION HAZARD!
Keep children and pets away 
from plastic bags or packing 
materials shipped with this 
machine. Discard immediately.

Included Inventory

T10687 Included Inventory (Figures 4)
A.
B.
C.

NOTICE
If you cannot find an item on this list, care-
fully check the machine and the packaging 
materials. Some of these items may be pre-
installed for shipping or become misplaced 
during unpacking.

Figure 4. 

Optional 
Accessories

Figure 5. 

T24872—55" Guide Rail

Download from Www.Somanuals.com. All Manuals Search And Download.



Dust Collection

Recommended CFM at Dust Port: 100 CFM
Do not confuse this CFM recommendation with 
the rating of the dust collector. To determine the 
CFM at the dust port, you must consider these 
variables: (1) CFM rating of the dust collector, 
(2) hose type and length between the dust col-
lector and the machine, (3) number of branches 
or wyes, and (4) amount of other open lines 
throughout the system. Explaining how to cal-
culate these variables is beyond the scope of 
this manual. Consult an expert or purchase a 
good dust collection "how-to" book.

This machine creates substantial amounts 
of dust during operation. Breathing air-
borne dust on a regular basis can result in 
permanent respiratory illness. Reduce your 
risk by wearing a respirator and capturing 
the dust with a dust collection system.

Figure 8.

To connect a dust collection hose:

1.
Figure 8

2.
Note: A tight fit is necessary for proper 

performance.

Figure 7. 

T25331—48-Tooth Blade for T10687 Saw

T25094—Accessories Pack for T24872 Rail
A.
B.
C.
D.

Figure 6. 

Download from Www.Somanuals.com. All Manuals Search And Download.



SECTION 4: OPERATIONS

Severe lacerations, amputation, or death 
can occur if blade changing/adjustment is 
attempted while saw is connected to power. 
Always unplug saw before changing or mak-
ing any adjustments to blade or riving knife, 
or performing any maintenance to the saw 
that would require direct physical contact 
with the blade.

Changing BladesUsing the Saw

Blade Requirements:

Blade Selection

To change the blade:

1.

2.

Figure 9

Figure 9.

Download from Www.Somanuals.com. All Manuals Search And Download.



4.

Even worn saw blades can be extremely 
sharp and dangerous to handle. To avoid 
injury, wear protective gloves when han-
dling circular blades.

Figure 10.

6.

Figure 11

3.

Figure 10

Figure 11.

5.

7.

Download from Www.Somanuals.com. All Manuals Search And Download.



3. 

4.

5. 

2.
Figure 13

Figure 13.

Riving Knife 
Adjustment

To adjust the riving knife:

1.

Figure 12

Figure 12.

Download from Www.Somanuals.com. All Manuals Search And Download.



Setting Cutting 
Depth

Figure 14

To set the cutting depth:

1.

Figure 15

Figure 14.

2.

Note: The cutting depth shown on the scale 
is the depth WITHOUT the rail track. The 
track adds an additional 3⁄16" thickness to the 
cutting point.

Figure 15.

Download from Www.Somanuals.com. All Manuals Search And Download.



2.

3.

Setting Cutting 
Angle

To set the cutting angle:

1.
Figure 16

Figure 16. 

Making Straight Cuts

Eye injury hazard! Always 
wear safety glasses when 
using this machine.

To make basic straight cuts:

1.
Setting Cutting Depth Page 19

2.

Figure 17

Figure 17.

Download from Www.Somanuals.com. All Manuals Search And Download.



3.
Figure 18 Making Plunge Cuts

Figure 18.

4.

Note: Holding the power trigger alone will not 
activate the saw. For power to be activated, 
both the plunge release and the power trig-
ger must be pressed. After power has been 
activated, the plunge release can be disen-
gaged.

5.

6.

Let the saw reach full speed before contact-
ing the workpiece. Doing so will reduce the 
risk of kickback, help provide the cleanest 
cut, and reduce stress on the saw motor.

Keep fingers and hands away from  the saw 
blade and out of blade path during opera-
tion. Use clamps to hold the workpiece in 
place if needed.

Making blind plunge cuts without checking 
your cutting path for unseen objects could 
result in injury from kickback, electrocution, 
building damage or fire, gas explosions, or 
death. Whenever making a blind plunge cut 
into a standing structure (like a wall), always 
check the cutting path for hidden wires, 
nails, and other metal objects by thoroughly 
scanning the area with an electric stud 
finder or similar device. NEVER risk a blind 
plunge cut without first checking your cut-
ting path.

Whenever operating the saw in the vicinity 
of live wires, always wear insulated gloves. 
Avoid unintentionally grounding yourself 
when operating the saw by being in contact 
with electrically-conductive materials (metal 
pipes, appliances, etc.).

To make plunge cuts:

1.

2. 
Setting Cutting Depth Page 19

Download from Www.Somanuals.com. All Manuals Search And Download.



 Note: The front and rear cutting indicator 
arrows are only accurate when the blade is 
fully extended. If the saw depth gauge is set, 
the maximum cutting distance will be less.

4.

5.

Note: Holding the power trigger alone will not 
activate the saw. For power to be activated, 
both the plunge release and the power trig-
ger must be pressed. After power has been 
activated, the plunge release can be disen-
gaged.

Let the saw reach full speed before contact-
ing the workpiece. Doing so will reduce the 
risk of kickback, help provide the cleanest 
cut, and reduce stress on the saw motor.

Figure 19.

3.
Figure 19

6.

Figure 20

Figure 20.

Download from Www.Somanuals.com. All Manuals Search And Download.



3.

4.
Figure 22

Note: The bottom of the rail track includes an 
oversized rubber lip that serves as a splinter 
guard. The first time the track saw is used with 
the rail, the saw blade will cut the edge of that lip 
to provide a zero-clearance effect, which will help 
minimize splintering.

To set up the saw with the rail track:

1.

2.

Figure 21

Using Rail Track

Figure 21.

Figure 22.

Figure 23

Figure 23.

Adding Rail Tracks

Download from Www.Somanuals.com. All Manuals Search And Download.



Figure 25

Using Adjustable 
Stop

Using the Stabilizer

Figure 24

Figure 24.

Figure 26.

Figure 25.

Figure 26

Download from Www.Somanuals.com. All Manuals Search And Download.



SECTION 5: MAINTENANCE

Cleaning

Electrical

To reduce risk of shock or 
accidental startup, always 
disconnect machine from 
power before adjustments, 
maintenance, or service.

Lubrication

Blade

Download from Www.Somanuals.com. All Manuals Search And Download.



Note: Please gather the serial number and manufacture date of your machine before calling.

SECTION 6: SERVICE

Troubleshooting

Download from Www.Somanuals.com. All Manuals Search And Download.



Adjusting Zero-Stop 
Set Screw

Figure 27

Figure 27.

To adjust the zero-stop set screw:

1. 

2. 

3. 

Download from Www.Somanuals.com. All Manuals Search And Download.



T10687

T10687
Model

115

116
117

T10687 Track Saw Parts Breakdown

SECTION 7: PARTS

Please Note: We do our best to stock replacement parts whenever possible, but we cannot guarantee that all parts shown here
are available for purchase. Call (800) 523-4777 or visit our online parts store at www.grizzly.com to check for availability.

Download from Www.Somanuals.com. All Manuals Search And Download.



REF PART # DESCRIPTION REF PART # DESCRIPTION
1 PT10687001 POWER CORD 18G 2W 72" 1-15 45 P6002ZZ BALL BEARING 6002ZZ
2 PAW05M HEX WRENCH 5MM 46 PR29M INT RETAINING RING 32MM
3 PT10687003 CARBON BRUSH SPRING 47 PCAP50M CAP SCREW M5-.8 X 10
4 PT10687004 CARBON BRUSH HOLDER 48 PT10687048 FRAME
5 PT10687005 MOTOR HOUSING 49 PT10687049 PIVOT PIN
6 PT10687006 PWR CORD PROTECTOR 50 PT10687050 COMPRESSION SPRING
7 PT10687007 POWER CORD CLIP 51 PT10687051 SPRING GUIDE
8 PT10687008 PHLP HD TAP SCR M4.2 X 12 52 PT10687052 RIVING KNIFE LOWER ARM
9 PT10687009 TERMINAL BLOCK 2 POST 53 PT10687053 RIVING KINFE
10 PT10687010 HANDLE 54 PCAP85M CAP SCREW M6-1 X 6
11 PT10687011 PHLP HD TAP SCR M4.2 X 16 55 PT10687055 SAW BLADE 160MM 48T
12 PT10687012 STATOR 56 PT10687056 DUST PORT 1.5"
13 PT10687013 PHLP HD TAP SCR M4.2 X 55 57 PT10687057 BLADE HOUSING
14 PT10687014 MOTOR FRONT COVER 58 PS74M PHLP HD SCR M4-.7 X 14
15 PT10687015 PHLP HD TAP SCR M4.2 X 22 59 PFH68M FLAT HD CAP SCR M8-1.25 X 20
16 PT10687016 MICRO SWITCH 60 PT10687060 OUTER ARBOR FLANGE
17 PT10687017 CAPACITOR 61 PT10687061 INNER ARBOR FLANGE
18 PT10687018 POWER TRIGGER 62 PT10687062 PAN HD SCREW M4-.7 X 14
19 PT10687019 PLUNGE TRIGGER 63 PT10687063 RIVING KNIFE SPRING
20 PT10687020 RESET TORSION SPRING 64 PT10687064 RIVING KNIFE UPPER ARM
21 PT10687021 PLUNGE TORSION SPRING 65 PT10687065 PHLP HD TAP SCR M4 X 14
22 PT10687022 POWER TORSION SPRING 66 PT10687066 ANGLE GAUGE POINTER
23 PT10687023 PHLP HD TAP SCR M3 X 8 67 PT10687067 PHLP HD TAP SCR M3 X 5
24 PT10687024 CARBON BRUSH 68 PT10687068 DEPTH GAUGE SUPPORT
25 PT10687025 BACK COVER 69 PT10687069 DEPTH GAUGE SCALE
26 PT10687026 RUBBER BEARING SLEEVE 70 PT10687070 DEPTH GAUGE
27 P608Z BALL BEARING 608Z 71 PT10687071 KNOB BOLT M8-1.25 X 24
28 PT10687028 ROTOR 72 PCAP04M CAP SCREW M6-1 X 10
29 P6001ZZ BALL BEARING 6001ZZ 73 PW03M FLAT WASHER 6MM
30 PT10687030 BLADE SAFETY LOCK 74 PT10687074 RAIL ADJUSTMENT KNOB
31 PT10687031 SAFETY SEG COIL SPRING 75 PCAP01M CAP SCREW M6-1 X 16
33 PCAP24M CAP SCREW M5-.8 X 16 76 PT10687076 SCALE NUT 8MM
34 PT10687034 PLUNGE LOCK 77 PT10687077 LEFT TILT GUIDE
35 PT10687035 GEAR BOX 78 PT10687078 BASE PLATE
38 PT10687038 GEAR BOX SCREW M4.8 X 30 79 PT10687079 RIGHT TILT GUIDE
39 PT10687039 GEAR BOX COVER 80 PSS04M SET SCREW M6-1 X 12
40 PFH30M FLAT HD SCR M5-.8 X 8 82 PSS05M SET SCREW M5-.8 X 10
41 PT10687041 ARBOR CYLINDER 115 PT10687115 READ MANUAL LABEL
42 PT10687042 ARBOR SHAFT 116 PT10687116 MOTOR LABEL
43 PT10687043 ARBOR BEARING COVER 117 PT10687117 GRIZZLY LOGO LABEL
44 PFH05M FLAT HD SCR M5-.8 X 12

Track Saw Parts List

Safety labels help reduce the risk of serious injury caused by machine hazards. If any label comes 
off or becomes unreadable, the owner of this machine MUST replace it in the original location 
before resuming operations. For replacements, contact (800) 523-4777 or www.grizzly.com.

Download from Www.Somanuals.com. All Manuals Search And Download.



T24872 Rail Track & T25094 Accessory Pack 
Parts Breakdown

REF PART # DESCRIPTION REF PART # DESCRIPTION
101 PT10687101 BOTTOM RUBBER STRIP 107 PT10687107 ADJUSTABLE STOP BODY
102 PT10687102 BOTTOM FOAM STRIP 108 PT10687108 ADJUSTABLE STOP KNOB BOLT
103 PT10687103 RAIL TRACK BODY 109 PT10687109 F-CLAMP
104 PT10687104 TOP BLUE PLASTIC STRIP 113 PT10687113 RAIL TRACK CONNECTOR
105 PT10687105 STABILIZER BODY 114 PT10687114 RAIL TRACK SET SCREW
106 PT10687106 KNOB BOLT 5/16-18 X 1/2

Download from Www.Somanuals.com. All Manuals Search And Download.



WARRANTY CARD

The following information is given on a voluntary basis. It will be used for marketing purposes to help us develop 
better products and services. Of course, all information is strictly confidential.

1.

2.

3.

4.

5.

6.

7.

8.

9.
Note: We never use names more than 3 times.

10.  _____________________________________________________________________

 _________________________________________________________________________________ 

 _________________________________________________________________________________ 

 _________________________________________________________________________________ 

Download from Www.Somanuals.com. All Manuals Search And Download.



Download from Www.Somanuals.com. All Manuals Search And Download.



WARRANTY & RETURNS
1 year

Download from Www.Somanuals.com. All Manuals Search And Download.



Buy Direct and Save with Grizzly® – Trusted, Proven and a Great Value!

~Since 1983~

ORDER
24 HOURS A DAY!

1-800-523-4777

Visit Our Website Today For 
Current Specials! 

Download from Www.Somanuals.com. All Manuals Search And Download.



Free Manuals Download Website
http://myh66.com

http://usermanuals.us
http://www.somanuals.com

http://www.4manuals.cc
http://www.manual-lib.com
http://www.404manual.com
http://www.luxmanual.com

http://aubethermostatmanual.com
Golf course search by state

http://golfingnear.com
Email search by domain

http://emailbydomain.com
Auto manuals search

http://auto.somanuals.com
TV manuals search

http://tv.somanuals.com

http://myh66.com/
http://usermanuals.us/
http://www.somanuals.com/
http://www.4manuals.cc/
http://www.manual-lib.com/
http://www.404manual.com/
http://www.luxmanual.com/
http://aubethermostatmanual.com/
http://www.golfingnear.com/
http://emailbydomain.com/
http://auto.somanuals.com/
http://tv.somanuals.com/

